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 	 n�# ��	 
� A �����
����	 B
�
 �	 �	 � � ����
��
��
� ���
	 n 
 	 100�

2018 = 20 · 100 + 18�A = 20�B = 18

�

# ��	 
� a �����
������� �
 �	 ��	 ��
�� 
� � �
���� �
�	 ���

���	 ��� 	 � ���
��	 A + 8 �25�
20 + 8 = 28� 28 : 25 = 1� a = 1

�
 # ��	 
� b �����
������
��	 A + 1 − a �3� 20 + 1 − 1 = 20� 20 : 3 = 6� b = 6

�
 # ��	 
� c �����
������
��	 A �4� 20 : 4 = 5� c = 5

�
 # ��	 
� d �
 �	 �	 � � ����
��
��
� ���
	 n 
 	 19� 2018 : 19 = 106 ��
�	 �	 � 4� d = 4

�

# ��	 
� e �
 �	 �	 � � ����
��
��
� ���
	 11d + 1

 	 30�

11 · 4 + 1 = 45� 45 : 30 = 1 ��
�	 �	 � 15�

e = 15

�

# ��	 
� f �
 �	 �	 � � ����
��
��
� ���
	

A− b− c− e + 46 
 	 30�

20 − 6 − 5 − 15 + 46 = 40� 40 : 30 = 1
��
�	 �	 � 10� f = 10

�
 # ��	 
� g �����
������
��	 B �4� 18 : 4 = 4� g = 4

�

# ��	 
� h �
 �	 �	 � � ����
��
��
� ���
	

5A + B + g + c 
 	 7�

5 · 20 + 18 + 4 + 5 = 127� 127 : 7 = 18
��
�	 �	 � 1�h = 1
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 # ��	 
� j �
 �	 �	 � � ����
��
��
� ���
	 39− f − h 
 	 7�
39 − 10 − 1 = 28� 28 : 7 = 4�

�
 �	 �	 � 
� 0� j = 0
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�	 �����	 ����� � �� X �Y��	 ���

���� ��� ��� ,/9:��,=22�X = 22�Y = 2��	 ���

��� ��� ,=22��,C22�X = 23�Y = 3� �� ,C22�

�� ,922�X = 23�Y = 4� 	 �� ,922��� :.22�

X = 24�Y = 5�
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 # ��	 
� A �
 �	 �	 � � ����
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��
� ������ n 
 	 19� 2018 : 19 = 106 ��
�	 �	 � 4� A = 4

�
 # ��	 
� B �
 �	 �	 � � ����
��
��
� ���
	 n 
 	 4� 2018 : 4 = 504 ��
�	 �	 � 2� B = 2

�
 # ��	 
� C �
 �	 �	 � � ����
��
��
� n 
 	 7� 2018 : 7 = 288 ��
�	 �	 � 2� C = 2

�

<	 �	 � �� ������ � A 
 	 19� ���	 � � X �������	 �

� ���
���� � 
 	 30�$ 
�	 �	 � ���	 ���� � D�

4 · 19 + 24 = 100� 100 : 30 = 3 ��
�	 �	 �

10� D = 10

�

8��
 2B + 4C + 6D + Y � ���
���� � 
 	 7� $ 
�	 �	 �

���	 ���� � E�

2 ·2+4 ·2+6 ·10+5 = 77� 77 : 7 = 11�

�
 �	 �	 � 
� 0� E = 0

� 	 ����	 $�

�1& ���� ! "����
	 # �"��	 �	 
�$%#&�



�f �D� j�E�� # ���
� ��
� �	 ������ � ��� ��� ���


	 �
�
��
� ���� ���	 �	 ��
 �����
 � �
 	 � @ 	 �
 
 
� ���	 �

�	 �� � ���� �	 ����
��� 	 �	 ���� � �
 ��� �	 ��
��	 
�

����� �� ��� 	 ������� 	 �	 ��� ����� � �����	 ��� �
��

� � ����!��
� ����
	 ����
��@ 	 �
 
 ��	 �� 	 ��	 � �
 ��

�����	 � � � � 	 �������	 �
 ��� �������� 	 �	 �� �	 � ��
�


 	 
 ��� 
	 
�� �	 �� 
 � ���������

-�� ��
�� �	 
 � ���������	 �	 ����	 �
��� �����	 
�� �	 �

����� 5 
 �	 ��� �� 	 � 
 ��
 	 � � �������
	 �
 ��� �


���
	 �
 ��� �	 ����	 �� �� :.5.��������

 
����
 ��!
�����"��
��#�����

$%#����"��
��#�����

:.,9� ,���	 ��
	 9���	 ��
	

:.,2� :,���	 ��
	 :9���	 ��
	

:.:.� ,:���	 ��
	 ,2���	 ��
	

:.:,� ?���	 ��
	 :�
����
	

:.::� ,C���	 ��
	 :?���	 ��
	

:.:5� 2���	 ��
	 ,=���	 ��
	

:.:?� 5,�����
�	 /�
����
	

:.:/� :.���	 ��
	 :.���	 ��
	

:.:=� /���	 ��
	 ,:���	 ��
	

:.:C� :9�����
�	 :�
����
	

:.:9� ,=���	 ��
	 ,=���	 ��
	

:.:2� ,���	 ��
	 9���	 ��
	

:.5.� :,���	 ��
	 :9���	 ��
	

� 	 ����	 ��

%���
� �	 ���
�	(

B����� � � �
 �	 ������ ��	 �
� �	 �� ����������
��	 ��

�
���� 
� ��� ���!�� �����������������	 ��� � $ ��

�	 ���� � �	 �� � �
���� �	 ��	 
�	 ����'

���
��
	 = 0 � ����
��
	 � = 1 ����	 � = 2


 ��
��	 = 3 �������	 � = 4 � ��	 � = 5


 ����	 = 6�

	 � 
�
���'

����
	 � = 1 ��	 �	 �
= 2 
 ���	 �
= 3

��� 	 �
= 4 
 �� 	 �
= 5 ������� = 6

��
	 �= 7 ��
��� 	 � = 8 
 ������= 9

� ��
��	 �= 10 
�
���	 �
= 11 ���
	 ��	 = 12�

$ �	 
 � �� 	 �� ����	 � �	 ���� ��� ����	 �
	 � 
�
���

� �	 �������
�
� ���� � ��
�
��� ��� �����	 � � �� �� �


 	 �	 �	 
� �	 �	 ������	 ��� � ;	 ����	 ���� � 
 	

d� � 
�
�� 
 	 m �	 ��� 
 ��	 �� 
 �	 ������� ���

� ����	 �
�� �	 � 
�
�����	 ������ 
 	 N�@ �����

�	 � ��
�� � � ������ N = 100s + n� ;	 �� �
����

� ������������ �	 ��� � �������
� &��� ���� '

X =
(
d +

⌊
1
5
(13m − 1)

⌋
+ n

+
⌊n
4

⌋
+

⌊ s
4

⌋
− 2s

)
(� �� 7),

��
� 
� �a� �	 
��!�� ��
��� �� a�	 (� �� 7) �
 �	 �	 �

� ����
��
��
� ���
	 
 	 7 �����������
	 ��

# 	 � ��� 
���
	 
 	 � �����	 :?���
��� 	 �	 ,2C,�B	 �

� 	 �	 ��� �	 
� ���	 ���
��
	 �"���
���� �E

d = 24, m = 8, s = 19, n = 71

X =
(
24 +

⌊1
5
(13 · 8 − 1)

⌋
+ 71

+
⌊71

4

⌋
+

⌊19
4

⌋
− 2 · 19

)
(� �� 7)

= (24 + 20 + 71 + 17 + 4 − 38) (� �� 7)
= 98 (� �� 7) = 0,
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� �	 ��E;��	 � ��� &��� ��� � ������ � ���	 !��� [4]�	
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#"https://en.wikipedia.org/wiki/Computus
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